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1. Wﬁ@?ﬂﬁ @W%

A TEWRAAS ®) TRl &1 geeT

€ gaE ¥ U T HRAl (D) Tt

The role of a moderator is:

(A) Focus on group (B) Managing the dynamics

(C) Smooth running of discussion (D) All of these

2. loT 3ffthcaaR & YHTE! TRUT T 57
(A) e Tied, TS 3BT
(B) W 3R TFHLR
(C) STeT Her 3R T3S fazamur
(D) gt
What are the effective stages of loT architecture?
(A) Internet gateway, Edge information
(B) Sensors and Actuators
(C) Data center and cloud analysis
(D) All of these

3. fPYUBPRSII0T TR Alsd fg-fexmers SR qui gy g ?

(A) UlfeT-HeHchgd (B) TRevee - Rwgig
(C) UHaqRid YR (D) UR-gA
Which type of loT communication model is bi-directional and fully duplex?
(A) Publish-Subscribe (B) Request - Response
(C) Exclusive Pair (D) Push-Pull
4. lIpv4 3R Ipve Fe3AT MAIHId gRT B Ut Tgq b4 ST YT fhar Srar 872
(A) 128-fae 3R 16-f5c (B) 32-fge 3R 128-fe
(C) 32-f9c 3R 64-fac (D) 16-fae 3R 128-fac
Which address schemes are used by Ipv4 and Ipv6 internet protocols?
(A) 128-bit and 16-bit (B) 32-bit and 128-bit
(C) 32-bit and 64-bit (D) 16-bit and 128-bit

5. loT 3fifdheamR & foTT Ugad WCiersy BISatR §/%:
(A) e UTg (B) ArduinoUno (C) Tgdidle (D) Tt
The prototype hardware used for 10T architecture is/are:
(A) Raspberry Pi  (B) ArduinoUno (C) Cubie Board (D) Allof these
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6. 8051%:

(A)  4-fe Al EITR (B) 8-fdrc HIEEIcbEIeR

(O 12-f3c ARHIHER (D) 16 foc TEHIHCIR

8051 is :

(A) 4-bit Microcontroller (B) 8-bit Microcontroller

(C) 12-bit Microcontroller (D) 16 bit Microcontroller
7. SR$Is A

(A) T F fom forxft os 31T TTge 3t 3MaRgsd T8l §
(B) SR UW 3(Tg 31 YUl & JHM

€ IRfFd T dsmmasars

(D) ST & e ArgA 3if TT3e Y 3MIaHdT gidll §

In bar code system .

(A) No line of sight required for reading

(B) Same as RFID system

(C) From any angle reader can read

(D) Line of sight required for reading

8. dRRAY "Acad UHR Sl SIRN H loT e Sl Jgrarcd @, 98
(A) IR (2 Sf-5 Sft) Acadh Yieibld
(B) <Y
(€ fwe-aF ¥R
(D) A9
The wireless network types that promote loT deployment in industries are:
(A) Cellular (2G-5G) network protocols

(B) Bluetooth
(C) Near-field communication
(D) All of these

9. Jdd ! faduanen g;

(A) N B gHIRIT FH=eT (B) TR BT ARTGRA FH=e
(C) TP I A& U ] (D) T

The leadership trait/traits is/are:

(A) Toinfluence people (B) To guide followers

(C) To achieve a common goal (D) All of these
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10. TWes C I ot sifRer & fore wet fased T
(A) T UMY & STeR W
(B) HeolRM? UHIURH1: TaIURM2
(C) HSIA? TRIUR1 <TRIURF2
(D) U FWEd & =Y
Choose the correct option for the ternary operator in embedded C:
(A) Based on ternary condition
(B) condition? Expression1: Expression2
(C) condition? Expression1 < Expression2
(D) Similar to execution of a Loop

11. QU TN C PIE o7 M3Ye &
The output of given C code is:
#include
int main ()
{
intx=1,y=1, z;
Z= X++ +V;
printf (“%d, %d”, X, y);
}
(A) x=1,y=1 (B) x=2, y=1 (C) x=1,y=2 (D) x=2, y=2

12, Fofafed d 3§ fod sifoier &1 gafe uruffiedr 872

(A) ==and!= (B) difches (C) Relational (D) SiHTIO
Which of the following operators have the highest precedence?
(A) ==and!= (B) Logical (C) Relational (D) Arithmetic

13. FuafafRad & 3 o9 a1 fmeR fSeagy 3ifuver T8 82

(A) * (B) && ©€) i (D) <<
Which of the following operators isn't a bitwise operator?
(A) * (B) && ©€) (D) <<
14. LDRIWFF I BN E:
(A  THHSIR (B) TieTw € dsIEps (D) 9
LDR Sensors are made of:
(A) Semiconductor (B) PbS (C) Lead Sulfide (D) All of these
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15.

16.

17.

18.

19.

20.

TafaRUT SR IRATIE ATIHH B RIS - & o fEemg= fasan T arRa ot gad IR 8
A) ST (B) sSUTU8266 (C) SR UBTH3200 (D) UTATH35

The wireless battery free sensor designed to record environmental and material
temperature is:

(A) DHT11 (B) ESP8266 (C) RFM3200 (D) LM35

'PROGMEM Zfefiét & ERM a1 &l I dHrd JHT UGN 1 S arell FHRY B

(A) SIRTTH  (B) W (C) TEIRUYTH (D) 33URM
The memory used while saving the data during ‘PROGMEM utility’ is:

(A) DRAM (B) Flash (C) SRAM (D) EEPROM
RIS SRITH TR NYTRG d-1d UsteH dab-ie il fasma ufafshar s Sl 8

(A) 3ffciH® db-iid (B) WH-UM

€ e (D) al I Ja

The stress management technique based on mental exercises which to produces the
relaxation response :

(A) Autogenic Technique (B) Eating

(C) Sleeping (D) Medicine intake
loT & foTY A hIbeIad &l Tg g TR 3T §:;

(A) AfFHTd faRIvdTg (B) fRRar

(C) Ty 3M3eye D) Tt

The selection of Microcontrollers for loT is based on:

(A) Individual Characteristics (B) Stability

(C) Desirable output (D) All of these
KIGIE]

(A)  ufu=, aA (B) few,gRuzm  (C) Hie, aRux (D) fiFe, uRux

The messages meant for the general public and that sent to a specific group are
called , respectively.

(A) Circular, Memo (B) Notice, Circular (C) Note, Circular (D) Minute, Circular

for loop ® &1 ANTEd x 3R y B TH Y B F(Run) H?

How to run two variables x and y in for loop simultaneously?
(A) for (x = 0; x<m, x++), for (y = 0; y<m, y+=3) { }

(B) for (x =0,y =0; x<m, y<m; X++, y+=3)

(C) Both (A) and (B)

(D) for (x = 0; x<m, x++) { }, for (y = 0; y<m, y+=3) { }
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21.

22,

23.

24.

25.

loT # e, Hifdw IJuHRUl, AR, AFHIHIER 3R M

(A g (B) UeRIueH (@ FgHe (D) Sl
loT comprises of internet, physical devices, sensors, microcontroller, and

(A) Information (B) Actuators (C) Intranet (D) Electronics
TNSE C H 3Fd qU B Hd JHIE B2

(A) End (B) Exit (C) Break (D) Abort
How to terminate an infinite loop in embedded C?

(A) End (B) Exit (C) Break (D) Abort

fafafad § 9 & 10T THUH fdg &1 g a1 872

(A) SR (B) Ted

(C) WuR Hisyw (D) Ty

Which of the following is not the component of IoT End point?
(A) Router (B) Gateway

(C) Communication Module (D) MCU

e, ararfes, A ... O gAY SR H R 1 o arelt Fafid Ruié sgard §:

(A)  Sfio=TRe Ruid (B) HWa RUlc

(C) wTfd Rard (D) omafde Raré

The routine reports prepared in time-intervals like daily, weekly, monthly...... are
called:

(A) Formal Reports (B) Conference Reports

(C) Progress Report (D) Periodic Reports

yfaafia ardraRor # 7= ¥ 7=ii9 (M2M) TR & ot ©1F 91 TR R Wieisid ifeR
27
A WA (B denud € TRTWUWH (D) TWHRH

Which application layer protocol is responsible for machine to machine (M2M)
communication in restricted environment?

(A) MQTT (B) COAP (C) XMPP (D) AMQP
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26.

27.

28.

29.

HTH-THA Jerar gl

(A)  STH-Ted ®) R

(© fawa (D) RIS WA
Self-esteem promotes

(A) Self-worth (B) Disappointment
(C) Failure (D) ill-health

C ¥ T 3feoR & file® () 3R wprintf () & Ted fafdxe &1 39 TSR ST TG

A %Id (B) %d Q) %li D) %f

The format specifier for printf () and wprintf () of long integer in C is denoted as:
(A %Id (B) %d Q) %li D) %f

UART &1 312 &:

(A) o UM ATl el
B) gFadd tRmfeawa e gharfier
€ FHaud TR ReftaR / giaHieR
(D) gFadd TRy AsA iR

UART stands for:

(A) Universal Asymmetrical Radio Telecasting

(B) Universal Asymmetrical Radio Transmitter

(C) Universal Asynchronous Receiver/Transmitter

(D) Universal Asynchronous Radio Transmitter

Td ST 3R YW:

(A) drse fSude IR (B) 2 fufeargsmic

(C) VB HI dgdr &l Fade=args (D) T Wh

LDR Sensors:

(A) Light Dependent Resistor (B) 2pinnedIC
(C) Controls Light Intensity (D) All of these
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30.

31.

32.

33.

34.

feu MU C Fie H, qu ¥ forg Frefed a=ar g -
In the given C code, for loop executes for:
#include

void main ()

{

int x=10;

for (; ;) { printf(“%d\n”,x):}

}

(A) 10 times (B) 9times (C) infinite (D) Zero
loT AUaH At g § de&fid 8:

(A)  T@NT ¥ f&fSed =uiarom (B) THI &I Fad

) o Ty Rew (D) T

The loT temperature monitoring is related to:
(A) Analog to Digital conversion  (B) Save time

(C) Real Time system (D) All of these

loT EERICE STAUHE THARRAHE (IDE) 3R &I S 1 87

A) WAWTI (B) URPA Q) SRgsH (D) Wuad
Which is loT integrated development environment (IDE) and tools?

(A) HTML (B) Pascal (C) Arduino (D) PHP
T W Pl Y TRH IR bl 87

(A)  FRTETETEiof (B) RTEFT TR

(C) PxRfITTEW (D) W P! Ulgec b

How can we initialize the array?

(A) Initializing (B) Assigning array

(C) Factoring and array (D) Populating an array

TER ufosan & g =nfia §:

A) IF (TPIER) = ITd = RAR (D) = ufafwar = wisds

(B) UNH (TIBIER) =0 = iR ((TPIeR) = ufafpar = wiss®

(C©) UYF (TPIR) = od = AR wfafran) = TP = wisa®

(D) U (WA = Td = AR ([SHIR) = THIS = B

The communication process comprises of:

(A) Sender (Decoder) = channel = Receiver (Encoder) = Response =Feedback
Sender(Encoder) = channel = Receiver(Decoder) = Response = Feedback

(B)
(C) Sender (Encoder) = channel = Receiver (Response) = Decoder = Feedback
(D) Sender (Response) = channel = Receiver (Decoder) = Encoder = Feedback
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35. mww%%ﬁﬁ@aﬁﬁmmﬁ%ﬁmg@rﬁi&nﬂ:ﬁ?ﬁﬁﬁgm% ?

(A) et gR&f (B) WU C) fecade ) ST I DIS TRl
The main security challenge to overcome to make loT services avallable at low cost
is:

(A) Open security (B) Scalability (C) Detachment (D) None of these

36. <rdyemsdl Afsd A Fufafad dur &1 e el fear T g

(A) Tsic=H (B) “ca® (C) UlTh=H (D) < U
Following layer is not mentioned in TCP/IP Model.
(A) Presentation (B) Network (C) Application (D) Transport

37. QU DIE & 3IHHU & forw Tl fadhed g
Choose the correct option for indexing of the given code:
int main ()
{
int xyz (8);
return O;

)
(A) 07 (B) 08 C) -17 (D) 1,7

38. o g AT URGISHT BT TR B 3R AN A & S8 Ufafehan AT IR &1 T8 1 a1 82
A)  THI-UGYT (B) SMTH-SINREhdl
(C) ol (D) SHTH-UH
Mr. Rahul is seeking feedback after completing and implementing his project. This
act represents

(A) Time-Management (B) Self-Awareness
(C) Gratitude (D) Self-Love

39. e goumeh # efiu=-qu Rieed & IR 7
(A Sfhd dm=e, AR
(B) <fthep wge, aruwH fFad®
() < dTge, Wafed Yars A==
(D) a9
The examples of Open-loop system in control system are:
(A) Traffic Light, Toaster
Traffic Light, Temperature Controller

(B)
(C) Traffic Light, Automatic washing machine
(D) All of these
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40. WaR pgm_read_word ((&(var_data[x][y]))) T TR & gl &

(A) TgH (B) qui® € & (D) SerwrRd
The function pgm_read_word ((&(var_data[x][y]))) reads from flash memory:
(A) Address (B) Integers (C) Strings (D) Data files

41. Arduino IDE ¥ Scalex d1§ ?

(A) DI BT TP ghHII (B) WdYE HRATE
(C) HHER g H Iudld (D) gt

What is the bootloader in the Arduino IDE?

(A) apiece of code (B) initiates the sketch

(C) stored in the memory space (D) All of these

42. Arduino U g1
(A  3iu-Orf eqe ufger (B) SNUA-UN Saae e WiehiH
(C) o YIUTIET HTwT (D) STHIADIS Gl
Arduino is a
(A) Open-source Text editor (B) Open-source electronics platform

(C) Web programming language (D) None of these

43. o1 {3 feamn T 8 Arduino & 1Y Ueh TAsa! SebRITT & a1 o
digitalWrite (led_pin, LOW);
digitalWrite (led_pin, HIGH);
(A) USES! s 3R AT
(B)  STCHT-3fEHT AR GRT Ues el g 3R =T,
© QEFR 3N/t & ﬁl’Q e+ BT introduce &R W%
D) g
A LED interfacing with Arduino as shown implies:
digitalWrite (led_pin, LOW);
digitalWrite (led_pin, HIGH);
(A) LED off and on
(B) LED off and on by varying VCC
(C) Canintroduce delay for better o/p
(D) All of these
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44. SQ3R ST FHIBRYH fafyr & - R w82
(A) TS, TG B3, 3R e B3 (Read, Recite, and Review)
(B) TS, TTG 3T, 3R THlen &Y (Read, Remember, and Review)
(C) TUe, TG &Y, 3R YRIfad ®¥( Read, Recite, and Recall)
(D) TS, TTe P, 3R §91¢ T (Read, Recite, and Retain)
What are three R’s in SQ3R reading comprehension method ?
(A) Read, Recite, and Review
(B) Read, Remember, and Review
(C) Read, Recite, and Recall
(D) Read, Recite, and Retain

45. TH ST § Ford SfeTerd & 99 & U § SX9Td foal off 9ebdi g |
(A) (B) fArcH (C) W (D) @
A is a document that can be used as evidence in court.
(A) Notice (B) Minutes (C) Letter (D) Email

46. 0T 3R | UK R3S I B YPT3:
(A)  Hf-FmEd SR 3 sraxasd
(B) Rlc YRR urar
(C) I R-F&aEy R
(D) (B) MR (C) &
The role of public cloud computing in the loT architecture is:
(A) Need for on-premises hosting
Remote processing power.

(B)
(C) Enhanced inter-device communication
(D) Both (B) and (C)

47. TOR H1EOH & =0 H 30 i Sffard favar g /vt g

(A)  TEIfd Brgfel (B) e @I Ul Yo &t gfaer

(C) aTierd gAuffa D) ot

The essential feature/features of an email as communication medium is/are:
(A) Automatic filing (B) Facility to send copies of message
(C) Automatic retrieval (D) All of these

48. DI I 1Y BT JaERIf 7Y 872

(A) uRu= (B) M9 (€ Hew (D) forre
Which is not the synonym of memo?
(A) Circular (B) Memorandum (C) Message (D) Minute
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49.

50.

51.

52.

53.

54.

TR R S T A Py ST d dead § ?
) fefoea (B) Sdfdcwmd (C) Tbfmd (D) (A) 3R (B) qIHf

Sensors convert signals from analog to which domain?

(A) Digital (B) Electrical (C) Mechanical (D) Both (A)and(B)
? . Aﬂ %::

(A) Udee Rrem (B) Ul yH-Wiifthdh

(C) BTES D) T T

Microcontrollers are:

(A) Embedded System (B) Application-specific

(C) Harvard (D) All of these

loT J&m Mafifeal & FRaffad i §:

(A) RETUICIDIA (B) dARRAY IR Acddh

(C) RIS DT (D) Tt

loT enabled technologies include following:

(A) Security Protocols (B) Wireless Sensor Networks

(C) Cloud Computing (D) All of these

TNeE CH, e s o g :

(A) TP Mo (B) Wb &R

© TP 3D D) T K RRI®

In embedded C, Literals means:

(A) aword (B) aletter

(C) adigit (D) a string constant

Arduino ®1S & IR H T9 FT 87

(A) YU () TP TIEITBaREE  (B) qU () P! 9R-aR Fwfed far sian g
(C) Tha P wyH W I o 8 (D) T

What is true about Arduino Codes?

(A) Setup () is a startup function  (B) Loop () is executed repeatedly
(C) Also known as sketches (D) All of these

'Arduino.h' TR BRA S IRT AN FYTIAE, 6

(A)  Avrdude TTEATR 3T BISd B U HRl &

(B)  Arduino ®I Tt HR HrRiemarstt a% Ugd USH HRdl §

(©)  #include <Arduino.h>

) T

The statements that are TRUE about ‘Arduino.h’ header file are:
(A) Avrdude software uploads the hex file

(B) Gives access to all of Arduino’s core functionality

(C) #include <Arduino.h>

(D) All of these
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55. WIdhRed HIA0T Yol g:;
(A) SRId AEfass fharell & A Biga®
(B) SR AEfasd fohamsil & WY THRIHAS Blodd
(C) S ATefas e foharsfi & WY THRIAD BIgad
(D) gt
Stochastic control system has:
(A) Feedback with unknown random actions
(B) Positive Feedback with unknown random actions
(C) Negative Feedback with unknown random actions
(D) All of these

56. ®ide 'PROGMEM' PROGMEM SUAIfIT &1 U URG-RNd S=Ne® ¢ | I8 [y gex Wwisd
Hg?
(A) avr/pspace.h (B) avr/pgmspace.h
(C) avr/pmspace.h (D) avr/progmem.h
The keyword ‘PROGMEM' is a variable modifier of PROGMEM Utility. Which header
file contains it?

(A) avr/pspace.h (B) avr/pgmspace.h

(C) avr/pmspace.h (D) avr/progmem.h
57. T loT fSarsd &I 0 & foTY Sexth &1 SMa=gedT 81 9avdl o:

A) W (B) siifear/ difsar

(C) ZeAT BAfaefact (D) a9t

An loT device may need interfaces for:

(A) sensors (B) audio/video

(C) Internet connectivity (D) All of these

58. 3NUA-qU 3R Faiies-qu Red #f ik 9 WR anrenid &

A) WIeddH (B) fRRar (€) Sfead (D) Jqh

The differences in an open-loop and a closed-loop systems are based on:

(A) Feedback (B) Stability (C) Complexity (D) All of these
59. 19 oRE ¥ 89 HUS Usd & 98 AR &1 U 36U 5|

(A) Hife® (B) Smfsgd (C) fofea (D) IJ=Rd

The way we dress is an example of communication.

(A) Verbal (B) Nonverbal (C) Written (D) Spoken
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60. loT T P12 :

(A)  HIES HET (B) Slld-o CoHIAlSIl
(C) Sl uAfafear (D) A gt
The loT supports:
(A) Cloud computing (B) Block-chain Technology
(C) Data Analytics (D) All of these

61. MQ135 W7 :
(A) TS fgeaer (B) IR
(C) aTg Hguul HifticH (D) (B)3MR(C)
MQ135 Sensor is:
(A) Al detector (B) Gas Sensor
(C)  Monitors Air Pollution (D) (B) and (C)

62. W ar C T %1 9 s
Choose the correct option of C program having array:
int main ()
{
int xyz (4) =[10,20,30,40];
printf (“%d”, xyz (1));
}

(A) 0 (B) Compile error
(C) 10 (D) 20
63. T a4, fawy & IR § TR &l § 3R & IR T 91 BT §
A) fad, a1 (B) dreH, fobarm
(C) drH, fawg (D) fadw, fawg
In a sentence, subject communicates about and predicate talks
about
(A) predicate, sentence (B) sentence, verb
(C) sentence, subject (D) predicate, subject

64. 3MTEdl Hdg® YEfId G :
A) ST
(B) TRUMIR
(© i firferem e ar wmder Sk
(D) g
Humidity Sensor is related to:
(A) DHT11
(B) Hygrometer
(C) Parts Per Million or Relative Humidity
(D) All of these

Page 14/21 M4-R5 /S2/ 08-22



65. U ¥ Y AR B ST oIl &
(A) FegHTA (B) ZeTUEd (C) 3fdufaas (D) 3NT=IRSD

Communication with oneself is called

(A) Interpersonal (B) Intrapersonal (C) Impersonal (D) Formal
66. & EN e fearet § ok RS @meA I &, @ LCD 3¢ & eRe
qﬂ”ﬁaﬁu‘c{iﬁhm%
(A) 0¥ 1 HHA 3R 3 (B) 130 HHAU 3R 3
© 0¥ 1 HHA AR B (D) 190 Hha 3R HH
LCD displays the text form of data when EN line shows and RS line
is ;
(A) 0to 1 transitions & High (B) 1 to 0 transitions & High
(C) 0to 1 transitions & Low (D) 1 to 0 transitions & Low

67. fgfefad {3l &1 IUTRT BB Arduino Y URITH oo o ThdT §

(A) UYd (B) C++

() (A) 3R (B) Gl (D) SWFH Y PIs 75l
Arduino can be programmed using following languages:

(A) Python (B) C++

(C) Both (A) and (B) (D) None of the above

68. “Hello friend” Taxr At & YL fopam STawm Swas! gfY I |1 Ak R & 2
A) Serial. Print (F (“Hello Friend”));
B) Serial. Print (A (“Hello Friend”));
C) Serial. Print (C (“Hello Friend”)
D) Serial. Print (N (“Hello Friend”)
Which macro confirms “Hello friend” will be stored in the Flash memory:
(A) Serial. Print (F (“Hello Friend’

(
(
(
(

~ ~—

)
)

(B) Serial. Print (A (“Hello Friend”));
(C) Serial. Print (C (“Hello Friend”));
(D) Serial. Print (N (“Hello Friend”));
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69. T® loT Ulciid | MU el o:
(A) ATadh / $eIAC Uik Id AR
B) i TR UicIplat
(C) TR R Uicibld
(D) U R UICbia
An loT protocols does not include:
(A) Network / Internet protocol layer
(B) Link layer protocol
(C) Application layer protocol
(D) Session layer protocol

70. If-Else 3R {9 $9 WcHe & 3R 5 :
(A)  If-Else SI§I search &I AN &l §
B) f¥a9-%Y linear search & A &l §
(€ lf-Else & 3icR s fAuia & oY Fs WeeHed BT YA fhar o Tl §
(D) &9 su S sfax b5 MUidl & 7w &3 Wehcy ST IuANT a1 o bl 8
The difference in If-Else and switch case statement is:
(A) If-Else enforces binary search

(B) Switch-case enforces linear search

(C) Multiple statements can be used for numerous decisions inside If-Else

(D) Multiple statements can be used for numerous decisions inside switch case
71.  Arduino ® @A THCYH & 1Y Ygol S 3 |

(A) .exe (B) .ino (©) .ide (D) .doc

Sketches in Arduino are saved with the extension :

(A) .exe (B) .ino (©) .ide (D) .doc

72. o HHaRA] BT ITANT ISP U loT fSarzy 3 Serthal I el g ?

(A) TS (B) dIIS 3R IR

(C) TR (D) 3T B Tol

An loT device connects with other interfaces using connections which are:
(A) wired (B) wired and wireless

(C) wireless (D) None of these
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73.

74.

75.

76.

77.

WoT HI1 g 3R loT H $9& ST 1§ ?

(A)  TRREY T I iR gug &1 wifewrar H 9fa

(B) dTIRG it fI SR qReM werdt

(C) d9 3Tt R 3R eraimRfaferdt # gur

(D) 99 3 R iR arTd & gfS

What is WoT and its usage in the [0T?

(A) Wireless of Things & increase time complexity
B) Wireless of Things & reduce security

C) Web of Things & improves interoperability

D) Web of Things & increment in cost

o~~~

DI T SIS BT ATHE o Jgd P IR TR SHIATS [T S ol & ?

(A) ifew (B) ey 3ifw difdm

(C) uster (D) HH

Which document that can be used as an evident in legal cases ?

(A) Notice (B) Minutes of a meeting

(C) Agenda (D) Memo

TISS ZHIRREH | I 91 HIShidhelar 18l & ?

(A) T3S (B) 8086 (C) UARTH (D) 8051
Which one is not a microcontroller in Embedded Ecosystem ?

(A) PIC (B) 8086 (C) ARM (D) 8051
loT & for Sugh & 5 aTeft TaR dafifeai 878

(A) =gy (B) fomst (C) dsHeE D) i
The communication technologies used for 0T is/are:

(A) Bluetooth (B) Zigbee (C) WIMAX (D) All of these

e & & va Rud 99 iR I v & IR B I JTg 2

A) HH Y HH TH GRTd Ui AN[E g |

®) ffred 3Ye, 0 (3MRURT) 3R 1 (CURT) WR YIR HT 8

(O JUINRT YA LTI T R T

(D) g

What is true about sending and receiving the Serial TTL Signals:
(A) At least one serial port is there

(B) Communicates on digital input, 0(Rx) and 1(Tx)
(C) UART or USART
(D)

All of these

Page 17/21 M4-R5 /S2/ 08-22



78.

79.

80.

81.

82.

loT SruarT & ESP8266 &1 &l IUTNT g2

(A) HH AN arel d1s-Bls Aisgd (B) U0 IR ARHIURRR

() 3F-face wa &1 & Ui Ao (D) I AN ATdl dTs-WTs A
What is ESP8266 used in lIoT applications?

(A) Low-cost Wi-Fi module (B) Microprocessor on a chip
(C) In-build HTTP software (D) High-cost Wi-Fi module

S Aex ot 1A B Arduino gRT Y &1 SUAT HRap Fifad faan Sran &:

n didiTH 8) didieH (€ drssguH (D) HUH
The speed of DC motor is controlled by Arduino using .

(A) PCM (B) PPM (C) PWM (D) QAM
AEHINART § Fafifad ges siaffga g1a §:

A = (B) THRI € ™ (D) FTHIA DI TR
Microprocessors have following components embedded in them:

(A) RAM (B) Memory (C) ROM (D) None of these

DI T fIAYT loT 1 aRHIRT Bl 272

(A) R Acdd (B) 3ruRafdd fRufaai

(C)  AB-BI AT (D) M-S IR UISibid
Which feature defines 1oT?

(A) Local network (B) Non-changing conditions
(C) Self-configuring (D) Non-interoperable protocol
T RR TR &1 39 YbR 9If¥d f5ar o g 8

(A) &ad variable declaration area #
(B) main () % §Ig
(C) const number int

(D) #define number 35

A constant variable can be declared as:
only in variable declaration area
After main ()

const number int

#define number 35

>O

~— N S

B
C
D

~ o~ o~ o~
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83.

84.

85.

86.

87.

88.

loT, loT <fif7a S & w3 sgrarear g .

A) fEarg (B) “ca® (C) TR (D) TRig
loT promotes the creation of 10T terminal industry :
(A) Devices (B) Network (C) Clusters (D) Things

T I UT B Pt U Sl g1 I8 Jd ©U |

(A) TIPS (B) SIdIG (C) Sidls (D) T A HIE Tl
Reading is an art to bring in knowledge. It basically .

(A) Encodes (B) Translates (C) Decodes (D) None of these
RIS Ael-FRASHIA S U T § off TR-MNPP TR I Jaid 1 58 C2
=g ¥ ot ST ST |

(A) HTH (B) UNIS! € s (D) dipicr

Paralanguage is a part of meta-communication that deals with non-verbal
communication. Also known as

(A) Poetry (B) Prosody (C) Haptics (D) Vocalic
TEehidhelay o, TRie-d U &1 SN fhyds forg fasar sirar € 2

(A faggd smafd (B)

(C)  HHRT BRI (D) IR

In Microcontrollers, external access is used for:

(A) Power supply (B) Latches

(C) Memory Interfacing (D) Peripherals

B RAT PR AT Blals U7 SHIae Ual B Jhdl ¢ o HeT A1 @ :

(A) TTgR $eE (B) WU Fe¥

(C) Vel BrEadR §cE (D) SeRBRTIRE
Keyboard pins while interfacing can cause interrupt called as:
(A) Timer Interrupt (B) Software Interrupt
(C) External Hardware Interrupt (D) Interfacing Interrupt
fd=0r area § i &1 gat w1 741 77

(A) UaTg & fafgd &<

B) TRIUd qd1d & YR dled &1 (UG & U SRmp™ &1 faRly &8

(C) TdI P! [Ahddl 811 IR dlcd &G HR &

(D) §dI Pt f[Athedl 814 WR dicd W@ici

What is the basic function of the spring in a control valve?

(A) Characterize flow

(B) Oppose the diaphragm to position the valve according to signal pressure
(C) Close the valve if air failure occurs

(D) Open the valve if air failure occurs
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89. THA 3R WRI & U loT fEIRY Taeg—=Nd B &1 S0 ¥ TP fhPIIaRM 3 § forgat
G{ﬁ%’:
(A) THPRE TAGR! I U b
(B) malicious ®IS Foldc Y
€ TFrEH ) de ¥ R Retee Bl
(D) BTSAW & A BB
loT devices are vulnerable to attacks and threats. One of them is Cryptanalysis
attack that means:
(A) By recovering the encryption information
(B) Inject malicious codes
(C) Find ciphertext to break the encryption
(D) Tamper with the hardware

90. W& 919 Tferc T Ugd & T Ue! faswed g -

Choose the correct option to access the 4" element of the array :

int z [30];
int *pz;
pz = z;
(A)  *(z+3) (B) zI[3] (C) pz[3] (D) *("pz+3)
91. et =i & TaER iR =BH BT JUH B areh REf AL HEARN T |
(A) e (B) cAfakIcd qwefmm
(€ foxfta Rufa (D) Gid WwrEd
The enduring feature that describes an individual’s behavior and attitude is called
(A) Education (B) Personality Traits
(C) Financial Status (D) Job Profile

92. 3 U faRwams fSH R 0S| 3R TCP/IP Hisd fid §:
(A) 3N TY 3113 Hisd Wad SRS Weidid g 3R ¢t Tt di/sms ff TR Meeid 8
(B) 30 TY S Hige #, TiYUIE R feehad) ot MRt Tar ?
(C) (A) 3R (B)
D) & T e bt Afsd § 7 wRa gt §
The major characteristics on which OSI and TCP/IP model differs:

(A) OSI model is independent generic protocol & TCP/IP is communication protocol

(B) In OSI model, Transport layer guarantees the delivery
(C) (A)and (B)
(D) TCP/IP model consists of 7 layers
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93.

94.

95.

96.

97.

A & loT X FIPREHR YFel A AU o o1 &1 SUHRUN & §1d Hgdqul HTIR- STadid
¥ forg Tt W eneria g

(A) XML (B) .Net (ORSIGER] (D) THI BRI TR
The future loT trust infrastructures are based on technology for
business-critical interaction between devices without direct human interaction.

(A) XML (B) .Net (C) Blockchain (D) None of these
loT ST Yunfery & T U o

A) IR (B) TUdRucH (C) WTRHIHCER (D) SWigd aft
Main components of 10T based systems are:

(A) Sensors (B) Actuators (C) Microcontrollers (D) All of the above
3rgg! guAsh # fran TesguA foF 81d 87

(A) 1 (B) 2 (C) 4 (D) 6

How many pwm pins does the Arduino Uno have?

(A) 1 (B) 2 (C) 4 (D) 6

Arduino IDE # 3ifPqe Seare |1 ?

(A) fEPlee gedrex (B) ATmega328p

Q) (A) R (B) &M (D) 3RY FA & AT 1024 I13C AT ©
What is the Optiboot bootloader in the Arduino IDE?

(A) Default bootloader (B) ATmega328p

(C) Both (A) and (B) (D) Takes 1024 bytes for initiating

T G &, Toh GRUT oI Tifel fopar Sirar @

(A) T3 RalipzH (B) ia a1 deg,

(C) WhaRH 3mife (D) I o X

In a function, an array is passed by:

(A) Address relocation (B) Call by value

(C) Function arguments (D) Call by reference
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98. THI BT HINT THIA & forw 3R BT =R

(A)  3UHE, feRTTd (B) v, dfad

(C) T, 3H (D) dfér, B3

The language of memos should be and to understand.
(A) Indirect, personal (B) Direct, concise

(C) Lucid, easy (D) Concise, difficult

99. U IRUM SIHHAD, xyz [ ] AYE g :

(A) 0 (B) -1 < 1 (D) 2
An array index, xyz [ ] starts with
(A) 0 (B) -1 < 1 (D) 2

100. IR YR BT IUUNT a1 91 &:

(A)  Sitdied e (B) I ¥Hdad

(C) Silsolde f&earm (D) TGN Ry

IR Sensors are used in:

(A) GPS Tracking (B) Moisture sensing

(C) Object detection (D) Analog signals
-o0o0-
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